[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

o OF

g ] : ]

e 15H---HA b
1 4% - S H D N U U I

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

~0.05

L S S

O S S S B
>0.04F------ Pl S L
a E . . : : :
X olclc| SRR
SO%F :
£0.03F--rebeees
[J] F :
0.025F -+
0.02F b
0.015F -+
0.00F++++cbene-
0.005F -3+

.

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
> R ST T SO R
Q- 0.09F -+ +femrrrieeees R prety A e
€ : : : : : :
R R St S S S M T
U R S S
P : : : : : :
C0.06F-----erineeees e prrerdeeeeed i preee
S : : : : : : :
E={ULUS il A A A A A
[ : : : : : :
e S RERIE RN SRRAE UE
Y R R 1 e
0.02

o ?_‘f*ﬁ&}f]]éﬁﬁff]

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


